
Step 7

Step 8

7592-103895/7598-103901

7594-103897/7600-103903

7596-103899/7602-103905

7593-103896/7599-103902

7595-103898/7601-103904

7597-103900/7603-103906



View from inside

3

4

3

4

View from inside



[1] 1xHorizontal Rails.
      6xScrews M4x35.

[2] 1xInstallation
          Instruction.

[13]  1xFixed Panel .

[14] 1xDoor Panel.

[3] 1xHandle Set.

[4] 4xProfile Covers.
  
     

[6] 8xWall Plugs.
     8xScrews M4x35.

[7]  8xScrews M4x8.
      

[5]  
      

2xGlass Connect Clip.

[8]  2xWater Deflectors.

[9]  1xMagnetic Seal.

[10] 2xWall Posts.
        2xProfile Connectors.
        

[12] 1xPost 

[11]  1xAluminum .
         1xClip R/L.
         1xWall Plug.
         1xScrew M4x20.

View from inside

M4x20



[1]  
[2]  14xScrews M4x35
[3]  8xScrews M4x8      
[4]  1xHandle Set    
[5]  2xWall Posts
[6]  1xPost          
[7]  1xTop Horizontal Rail       
[8]  1xFixed Panel

     
               

            

8xWall Plugs
        

   
   
[9]  1xDoor Panel
[10] 2XGlass Connect Clip
[11] 1xAluminum 
[12] 1xClip L/R 
[13] 4xProfile Covers
[14] 2xWater Deflectors
[15] 2xProfile Connectors   
[16] 1xMagnetic Seal 

1160-1200(1200mm)
1360-1400(1400mm)
1560-1600(1600mm)

View from inside


	页 1
	页 2
	页 3
	页 4

